EC262 Name: Solution

Quiz 3
Section:

Date:

Show all work!

1. (4 points) Find the minimum SOP expression for the following function using 3-var K-map

F(A,B,C,D) = £(2,3,5,7,9,11,14,15)

B

CD 00 01 11 10
00 —
01 1 1
my1y1 1 1
01— 1

F(A,B,C,.D) = AB'C + ABD + ABC + AB'D

2. (6 points) Find the minimum POS expression for the following function using 4-var K-map

F(A,B,C,D) = £(0,1,5,7,9,10)
d(A,B,C,D) = X(2,8,13,15)

B

CD 00 01 11 10
00| 1 X
o111 | X |1
11 1 | X
10| X 1

F=BD+BD'+C'D (orB'C)

Complement the K-map:

B
CD~_00 ,01 11, 10
00 1] 1) X
01 __ X
1] 1) X (1
10X [(1] 1)
) T
F'=BD'+B'CD

(F)' =F = (BD' + B'CD)'
F= (B+D)(B+C +D)

To verify (optional):
F=BB+B'C'+B'D'+BD + C'D + DD'
= B'C'+B'D'+BD +CD

= (PSb, P5b)
F=  BD+BD+CD(orBC)

(P13a consensus)



